Прочитай текст и заполни пропуски следующим образом: обведи необходимую вставку в таблице для каждого номера.


My aunt Nancy was born  1) …	    England, but now she lives in Perth, Australia.  She  2)… 	to Australia in 2005. 

[bookmark: _GoBack]She is 80 years old now and I really love 3)… .  She is such a nice old lady. She is  4)…	 than my mother. In fact, my mother is 76. My aunt is an artist.  She  5)… 	pictures of cats for birthday cards. She loves cats – she    6) … 	25!

She started painting in 2006. At first she painted just for a hobby, but then 7)… 2009 she began making and selling birthday 8)…   .  A lot of  9) … loved them and bought them. 

She usually starts work  10)…  7.00 in the morning and  finishes  at 6 in the 11)…   .  Then she 12)…  swimming.
 
Last year I visited Australia and stayed with my aunt for  13) …  weeks. I 14)…  a very good time. She even gave me one of her cats, and now I have a little 15)…  to look after.

	1)
	a) at
	b) in
	c) on

	2)
	a) goes
	b)  is going
	c) went

	3)
	a) her
	b) him
	c) she

	4)
	a) old
	b) older
	c) the oldest

	5)
	a) paints
	b) is painting 
	c) painted

	6)
	a) have
	b) has got
	c) had

	7)
	a) in
	b) at
	c) on

	8)
	a) cakes
	b) presents
	c) cards

	9)
	a) pupils
	b) people
	c) men

	10)
	a) at
	b) in
	c) on

	11)
	a) afternoon
	b) evening 
	c) night

	12)
	a) goes
	b) go
	c) went

	13)
	a) too
	b) second
	c) two

	14)
	a) had
	b) have got
	c) is having

	15)
	a) zoo
	b) animal
	c) pet
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